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QUESTION 1

Which customer issue does an in-memory database address?
A. the need for faster insights from data

B. the need for desktop virtualization

C. the need for flexible storage and compute scaling

D. the need for data virtualization in the cloud

Correct Answer: A

QUESTION 2
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Which of the following is a key trend in the IT industry that is driving the adoption of HPE Edge-to-Cloud Solutions?

A. Increasing use of legacy systems

B. Decreasing demand for data storage

C. Growing use of data analytics and Al

D. Decreasing demand for high-speed network connectivity

Correct Answer: C

QUESTION 3

Why might you recommend Proactive Care Advanced rather than Proactive Care?
A. The company wants reports that are tailored for them.

B. The company needs monitoring 24x7.

C. The company wants enhanced call handling.

D. The company needs a dedicated HPE Account Support Manager (ASM).

Correct Answer: D

QUESTION 4
What is often the result of maintaining traditional development cycles?
A. Operating costs and overhead decrease.

B. Collaboration becomes more efficient.
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C. IT moves from a support role to a business role in the company.
D. Line-of-Business (LoB) managers create their own stealth IT projects.

Correct Answer: D

QUESTION 5

What is one benefit of the private cloud model?

A. It removes the need for making capital expenditures in the data center.

B. It requires fewer IT resources than public cloud.

C. It offers more scalability than public cloud.

D. It enables self-service provisioning within the customer\\'s IT infrastructure.

Correct Answer: D
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